177" Eigenvector

Ne:5 s —

Irred. Representation : I'y

1
Burr = 5 (=J = 3t+5U +50W — 2cos (65) v/As)
1 1
|ql177> = |57§7_§7F4,2>
= Ci77.1(|022d) — |20d2) — |2d02) + |d220))
+  Ci772(102d2) + (0d22) — |202d) — |220d) + |22d0) + |2d20) — |d022) — |d202))
+  Cirrs (|12dud) — |2udd) + |d2du) + |dd2u) + |ddu2) — |dud2) — |u2dd) — |ud2d))
5t )
Cirr1 = 5 +3Ut+34Wt —U* 4+ J(—t+ U + 8W)
1
+ (1—8 (A2, +3(J + 4t — 3U — 34W) Ags + 36(17t — 13U — 72W)W))

1
Cimra = <t (J + 6t + U — 2W — cos (65) \/AG)

1
Cirrg = ¢t (=7 + 12t = U +2W — 2cos (05) V/A¢)

Nz = 2\/01277,1 +2 (01277,2 + 01277,3)



